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Il, ,‘ ,:I . . . -
@ \\Vhen 474" + 47 is divided b% 48. the remainder is

afe 4747 + 47 B 48 A A fopaT ST &) VB
T BN ?

(a) 1

ﬁ

(d) 47
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sinA sinA . 0 0y _
1+cosA T 1—-cosA IS (0 <A<90 )

[(2) 2 cosge

A

(b) 2 sec A
(c) 2sin A
(d) 2 cos A
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@®/ The square root of/ WWH&

4 + 316 + 1is

a) V2 +1
®) V4 +1
©V2-1
@ V4-1
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@®/ When each side of an equilateral triangle is increased by 2 cm, its area |

increases by 23 cm?, then the length of the side of the original triangle is-
ST Th AHETE et o Sedes o 2 At o AT 8, /Y et dereer, 24/3
i 9 TaT 8, A A R e oA a2

(b)V3 cm
(©)3 cm
(d) (V3+2) cm
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sphere which will exactly fit inside the cube will be

1 F SATTA BT SUTT 39 N | TGN S g4 &
3igR quidr JHT §1g »

@V6:\VT
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e

WA and B working together take 8 and 18 less days than A
alone and B alone respectively to do a work. The
number of days taken by A and B working together to do
the work Is-

AR B UF A BHBId g Al d APAASMNRB S
PH BT T I FHT A 8 3MR 18 U HH Adam
Id B 91 0 F1 fra i A ol w1 He &
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P/ man purchased a table and a chair for Rs. 1300. He sold the table at a
profit of 20% and the chair at a profit of 25%. In this way, his total profit
was 23 (1/3) %. The cost price of the table is (in Rs.)

TS 3MIGHT 7 TP ¢ad 3R HAT WIS 1300 YT T ,¢qd DI 20% 3R FHI Bl
25% & ATH UR 99T T | 9 A¥8 SUBT $d dlH 23 (1/3)% &I, eqd DI

aNTd 94 (1 H) B

(a) 750
(b) 800

505500

433.3
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\ (S . . ':
f 12 men and 16 boys can do a piece of work in 10 days |

)

/

and 18 men and 50 boys can do it in 5 days. Compare
the efficiency of a man to that of a boy.

3R 12 3R 16 dS® 10 faf A BTH T Jbd & 3R
18 J3Y 3R 50 TSP 5 fel H B Jdhd & | TH ATGH! Pl
G&Idl DI JAT ASh A B

(a) 1:1(Ib.)__2;.l

(c)1:2(d)3:1
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Pz Y selling 25 metres of cloth a trader gains the selling price of 5 metres of

cloth. The gain of the trader in percentage is-

25 HeX FUST dTHY TP ATIRT 5 Hiex HUs & faha T & SRIaR BT a1
YTed 6T 2 | UFAerd & ST &7 «TH 2-

(a)l25—]
(b) 20

(c) 28
(d) 29

Q) SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES
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- O discount of 6—%, then his gain percent is-

TSSO WA T & 30% 3w 3o Wi &t i@ st aR o 6—%,3&
T AT B, AT ITRT ATH Wfawr 3-

(a) 23 Z%

(b) 22%

(c) g /°

(d) 30 %
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=Sl'he area of an equilateral triangle is '3 m2. The length (in m) of the median is —
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@/ \\When 335 is added to 5A7, the result is 8B2. 8B2 is :
divisible by 3. What is the largest possible value A?

SId 335 Bl 5A7 H SIST SIIdT §, df UfuIH 882 gid1 8|
8B2 3 ¥ faUTsy 31 Had 981 §Yd Yo A T 87

(@) 8

(D) 2_
(€)1
(d) 4
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B the average of 6 consecutive even numbers is 25, the difference between

" the largest and the smallest number is-

3 ofe HENT 6 W TEISH BT 3RTd 25 7, df T4 TS 3R Jad B T &

d &7 3ieR &-

(2)8__]
(b) 10
(c) 12
(d) 14

Q) SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES
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®’ If/afe x sin 45° =y cosec 30°, find /FTA &Y
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_ 5 = 30°, then ZA, 4ZB and £C are —
LA, /B, ZCHR TR e & afid LA- £B=15°, /B— ZC=30°%
AT HIT LA, /B, ZC T A ATA 6L 2

(a) 80°, 60°,

40°

b) 70°, 50°

60°
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WA/ afe sin0 + cosO = V2 cos0, then the value of/A AT FTA &Y

6 (cosO -sin@) =?

@) V3 cos
ONEELX:
© V2 cos 0
d@V2sin
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3+8J7+4\/§
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X The expression (27 + m?' T (27 ' 756]  equivalent &
S welteoT e -
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The income of A, B and C are in the ratio 7:9: 12 and their
spending are in ,the ratio 8:9: 15. If A saves 1/4t" of his income,
then the savings of A, B and C are in the ratio of:

A.B3RCH AU A § 7:9: 12 3R I @A & 8:9:
15. gfe A U 3T BT 1/491 SUd HRAT @, AT A, B R CHI Tud &

GI?[Q'I?[W%

(1)

(2) 69 : 56 : 99
(3) 99 : 56 : 69
(4) 99 : 69 : 56
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Rs. 180 contained in a box consists of one rupee, 50 pais and
25 paise cons in theratio 2: 3 : 4. What is the number of 50
6 paise cons?

Us i H W 180 ¥UY H U SUIT, 50 U 3R 25 U & Riaep]
BT IUTT 2 : 3 : 4 81 50 T P} F&T AT 27

(1) 60

(3) 150
(4) 180
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W®7] Rs.900is divided among A, B, C the division is such that ¥ of A's
money = 1/3 of B's money =% of C's money. Find the amount (in
7 Rs.) received by A, B, C.

Rs. 900 A, B, C & ¥ fauifora g, Ay sar e fr A d U &1 1/2 =

1/3B & TR BT =1/4 C S WA BTI A,B,C §RT YT T (F. H) BT U
Y|

(1) 300, 400, 200

(2) B50, 450, 10C

(3) 200, 300, 400
(4) 400, 150, 350
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A policeman starts to chase a thief. When the thief goes 10
steps the policeman moves 8 steps. 5 steps of the policeman is
8 equal to 7 ste of theif . The ratio of the speeds of the policeman
and the thief is

TS JRAPHl T TR &1 NS 31 & 7T Y= g1 81 99 IR 10 HeHIadT g JfordeHl 8 HeH
IAdT 8. YUl & 5 U I & 7 & SRR ¢ . YAl 3R AR B 71 &7 3ruTd 8

(1) 25 : 28
(2)
(3) 28 : 25
(4)56 : 25
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' |;_'"" : F:|

4 6 litres of milk and water mixture has 75% milk
In 1It. How much milk should be added to the
mixture to make it 90% pure?

6 eltex gY 3R T+ & fAyor § 750 g4 g1
faar gy fire=T TnfeT arfes 90% & ST g 2

(1) 10 litres
(2) 8 litres
@ itres

(4) €
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- The mean proportional between (3+ /2 ) and (12

0 -ﬁ)is

e WHTT ST,
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The fourth proportional to 0.12,
1 0.21,8is:

Tqd T SUTd -

(1)
8.9
3)
14
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1
If a and b are rational numbers and a+b \/§ — m ’

then a: b is equal to

1) -2:1

3)V3: 1

ORED!
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94 is divided into t(\]/lv@/parts In such a
way that the fifth part of the first and the
eighth part of the second are in the ratio

3: 4. the first part Is- (1) 30
04 Y B UTTT A §8 WR Ry frar e & s wga & v (2) 36
HITT 3R gHR & 313 U & 3urd 3: 4 A gl wgar Hrre-  (3) 40

(4) 28
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The number of perfect square number
between 50 and 1000 is — .
4 3T 1000 T Ae T TS P HWAT B -
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252 m of pant cloth and 141 m of shirt cloth are available in a cloth store. To '3.j
stich one pant and one shirt, 2 (1/2)m and 1(3/4) m of cloth are need
respectively. Then the approximate number of pants and shirts that can be

made out of it are — :
o1 g H 2R FUst SR iR I pusTIuaRIg I TH Ye 3R |
%:ﬁqgﬁﬁamﬁ%mm: égn)mahﬂ(zn)!ﬂm%aﬂﬁwa’rcﬁ%l

Y 3R S P SrgI=a BT o1 S9N G118 ot

(1) (80, 100) (2) (100, 80)
(3) (100, 90) (4) (90, 80)
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The radius of based of solid cone is 9 cm and its height is 21 cm. It cut into |
3 parts by two cuts, which are parallel to its base. The cuts are at height of |
7 cm and 14 cm from the base respectively . What is the ratio of curved
surface areas of top, middle and bottom parts respectively?
wﬁwa@%mmaﬂﬁweﬁ:ﬁwwﬁm{mﬁ%ﬁﬁwﬂ
TUTY & HTAR 8 | 3HTT H SIS T HETd YR W HH: 794 aur I
%?ﬁtl'\’%l PUT: SHURL, 7 74T fAaa 4T & 956 gl 8w &1 SrguTa o n

(1) 1:
(2) 1:
(3)1:
(4) 1:
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R&W)17.1f 50 people less would have applied and 25 people less

selected, then the ratio of selected and unselected would have
been 13:4, while earlier this ratio was 2:1. Find the total number

of people earlier?

gfe 50 &ﬁiq?hﬁﬁanéﬁm@aé%ﬁusvﬁﬂq%qwﬁaﬁﬁ,a‘r
SRIEL &IEICI|->-IEI$[3F;]CIIEI 13:4 ,GIEI|$ Yg AqJUld 2: 1
YT gl AT DI pol HSAT T PIford?

(a) 125
(b) 135
(c) 500
(d) 250
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